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B2 kg t(b>) 1t =10%g 1kg=10%t
" N(Z2—F>) kgf (EEXOT5L) 1kgf=9.806 65 N 1N=0.101 972 kgf
(kg - m/s?) dyn (&1 >) 1dyn=10°N 1N=10%dyn
91274 ’<\l:1m— o d— ) kgf * m 1kgf * m=9.806 65N * m 1N » m=0.101 972 kgf * m
kgf/cm? 1kgf/cm?=9.806 65X 10*Pa 1Pa=1.019 72X10kgf/cm?
Eh Pa (/XX AI) mmAg (mmH:O) 1mm Ag=9.806 65 Pa 1Pa=0.101 972mmAq
(N/m?) mmHg (Torr) 1mm Hg=133.322 Pa 1Pa=7.500 6X10°mmHg
bar (/x—JL) 1bar=10°Pa 1Pa=10"bar
Pa (/XX AHI)
Ish (/) kgf/mm? 1kgf/mm?=9.806 65X 10°Pa | 1Pa=1.019 72X107kgf/mm?
TE HIXILF—, J(Sa—n) kcal 1kcal=4.186 05 kJ 1kJ=0.239kcal
HE I ZILE. N-m) kgf + m 1kgf + m=9.806 65J 1J=0.101 972Xkgf * m
THE kKW * h 1kW * h=3.6X10%J 1J= (1/3.6) X10°KW * h
BB B, W (T k) kcal/h 1kcal/h=1.163W 1W=0.859 8 kcal/h
T (ss) kgf + m/s 1kgf + m/s=9.806 65W 1W=0.101 972kgf * m/s
Ps ({ABEA. X = bIVEH) | 1PS=7.355X10°W 1W=1.359 6X10°PS
HREBE W/m? kcal/h » m? 1kcal/h * m?=1.163 W/m? 1W/m?=0.859 8 kcal/h + m?
HE=E JIK kcal/'C 1kcal/’C =4.186 05 kJ/K 1kJ/k=0.239 kcal/'C
et J/ (kg * K) kcal/kg « C 1kcallkg - 'C =4.186 05 kJ/ (kg - K) | 1kJ/(kg - K)=0.239 kcal/kg * C
kx> ane Jikg kcal/kg 1kcal/kg=4.186 05 kJ/kg 1kJ/kg=0.239 kcal/kg
. . tkcal/m+h+C = 1AW/ (m + K)=
il Wi (m - K) keal/m - h - € 1.163 W/ (m * K) 0.859 8 kcal/m - h - °C
@ AR . 1kcal/m?+h+ C = 1AW/ (m? « K) =
HimER W/ (m? - K) keal/m® +h - C 1.163W/ (m* - K) 0.859 8 kcal/m? - h - 'C
BE K(FivE>) T (RIS RE) T (K) =t (C) +273.15 t (C) =T (K) -273.15

(&%)

(1) A Tlikcal IEHEZEHOV—ERAL TV BIBEY HINET, EIFEHO)—Tld1kcal=4.186 8 kJ EHWET,
(2)EB8:1kg(S| Bfir)=1/9.806 65 kgf-s2/m(EHEifi)

EE:1kgf (E/H)=9.806 65 kg'm/s2(SI Bfi)

ZHERSUE760mmHg (EHEAL)=101 325 Pa(SI Bfr)

1 A4 ERR:3 320kcal/h (E /1 Bifr) =3.816kW (SI Bifir)

1 K (E#) 5 FER:3 024kcal/h (B BEAL) =3.157kW (SI Bifir)
(B)ARETIIEREAMELT. ER2 kef) DRXDVICEE (kg) 2fF > TRIINTVET,




